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(9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio,
amOH$s¶ ŷJmob, n¶m©daU n[afXm, g§dY©Z, H$m¶Xo, AmnÎmrì¶dñWmnZ

1) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm
2) àH$mePmoVmVrb ñWio
3) n¶m ŷV gw{dYm, amOH$s¶ ̂ yJmob
4) g§å‘ocZ, n[afXm
5) àXÿfU d Vmn‘mZ d¥Õr
6) n¶m©daU g§dY©Z
7) AmnÎmrì¶dñWmnZ

1) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm
1) ‘hmamï´>mVrb H$moUVo eha XoemVrb n{hbo gopßQ>H$ Q>±H$-‘wº$ eha ~ZUma Amho?

1) nwUo 2) ZmJnya 3) Zdr ‘w§~B© 4) A‘amdVr
1) Which city of Maharashtra is to become the country’s first septic tank-free city?

1) Pune 2) Nagpur 3) Navi Mumbai 4) Amravati

2) Oå‘y-H$mí‘raÀ¶m [a¶mgr {OëømVrb CY‘nya-lrZJa-~mam‘wbm aoëdo ‘mJm©darb H$moUË¶m ZXrda gdm©V C§M aoëdo nyb
~m§Ybm OmV Amho?
1) Pob‘ 2) amdr 3) gVbO 4) {MZm~

2) Highest bridge is being constructed over which river on the Udhampur-Shrinagar-Baramulla railway

line in the Reasi district of Jammu and Kashmir ?

1) Zelam 2) Ravi 3) Sutlej 4) Chenab

3) ...... ZXrMo nmUr CngÊ¶mgmR>r ‘hmamï´> ~m§YV Agboë¶m {dS>u YaUmdê$Z ‘hmamï´> Am{U Jmodm ¶m§À¶mV g§Kf© {Z‘m©U
Pmbm Amho.
1) H$mgmS>u 2) H$miw§Ðr 3) dmid§Vr 4) JmT>r

3) A conflict has arisen between Maharashtra and Goa on Virdi Dam, which is being constructed by

Maharashtra to tap the water from ______ river.

1) Kasardi 2) Kalundri 3) Valvanti 4) Gadhi

4) "gmJa n[aH«$‘m" H$m¶©H«$‘mMm eŵ ma§̂  H$moUË¶m amÁ¶mV Pmcm ?
1) Ho$ai 2) JwOamV 3) Vm{‘iZmSy> 4) ^mdo à¶moJ

4) Sagar Parikrama program was launched in which state?

1) Kerala 2) Gujarat 3) Tamil Nadu 4) Bhave experiment

5) Ho$n Am°’$ h°Q>oagbm 'AQ>bm§{Q>H$Mo ñ‘emZ' åhUyZ AmoiIbo OmVo H$maU b°~«mS>moa àdmh> ...... bm {‘imë¶mda VoWrb
g‘wÐmMo nmUr CJ« ê$n YmaU H$aVo.
1) AmImVr àdmh 2) Zm°d}{O¶Z àdmh 3) ~|½dobm àdmh> 4) AbmñH$m àdmh

5) The cape of Hatteras is known as the ‘graveyard of Atlantic’ as rough waters are created there

when Labrador Current meets with ______.

1) Gulf Stream 2) Norwegian Current 3) Benguela Current 4) Alaska Current
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6) ŷJ ©̂emór` H$mbI§S>mV dmVmdaUmer g§nH©$ Zgboë`m nmÊ`mbm Ago åhUVmV:
1) OwdoZmBb dm°Q>a 2) H$m°ZoQ> dm°Q>a 3) ‘°½‘°{Q>H$ dm°Q>a 4) ‘o{Q>Amo[aH$ dm°Q>a

6) Water that has been out of contact with the atmosphere for an appreciable part of geologic period

is termed as :

1) Juvenile water 2) Connate water 3) Magmatic water 40 Meteoric water

7) Imbrbn¡H$s H$moUVo {dYmZ OJ^amVrb ‘hmgmJamVrb nmÊ¶mÀ¶m ImaQ>nUm~Ôb gË¶ Zmhr?
1) Amp³Q>©H$ {h‘ZÚm {dViyZ V¶ma hmoUmè¶m JmoS>çm nmÊ¶mMm àdmhm‘wio n°{g{’$H$ ‘hmgmJamÀ¶m dm¶ì¶ ^mJmVrb

jmaVm BVa ^mJm§À¶m VwbZoV H$‘r Amho.
2) AQ>bm§{Q>H$ ‘hmgmJamVrb gdm©{YH$ jmaVm 150-200 Ajm§e Xaå¶mZ Zm|Xdbr OmVo.
3) ZXrÀ¶m JmoS> nmÊ¶mMo àdmh A{YH$ OmD$Z {‘iV Agë¶mZo qhXr ‘hmgmJamVrb ~§JmbÀ¶m CngmJamV, Aa~r

g‘wÐmÀ¶m VwbZoV H$‘r jmaVm Amho.
4) A{YH$ ImaQ> nmUr ho CXJ«V… H$‘r ImaQ>nUm Agboë¶m nmÊ¶mda Va§JV AgVo.

7) Which of the following statements is NOT true about the salinity in ocean waters across the

globe?

1) The salinity in the north-western parts of Pacific Ocean is lesser as compared to its other parts

due to influx of fresh water from melting arctic glaciers.

2) The highest salinity in Atlantic Ocean is recorded between 15°-20° latitudes.

3) In Indian Ocean, the Bay of Bengal has lower salinity as compared to the Arabian sea because

of higher influx of fresh river water.

4) Vertically, the higher salinity water rests above the lower salinity dense water.

8) 1960 ‘Ü¶o ^maV Am{U nm{H$ñVmZ ¶m§À¶mVrb qgYy Ob H$amamZwgma ^maV Am{U nm{H$ñVmZbm H$moUË¶m ZÚm XoÊ¶mV
Amë¶m?
1) amdr, gVbO Am{U {~¶mg ^maVmbm Am{U qgYy, {MZm~ Am{U Pob‘ nm{H$ñVmZbm
2) amdr, gVbO Am{U {~¶mg nm{H$ñVmZbm Am{U qgYy, {MZm~ Am{U Pob‘ ^maVmbm
3) ‘oKZm, nÙm Am{U gmo‘oídar ^maVmbm Am{U qgYy, ‘hmZ§Xm Am{U H$mogr nm{H$ñVmZbm
4) ¶mn¡H$s Zmhr

8) Which rivers were given to India and Pakistan under the Indus water treaty between India and

Pakistan in 1960 ?

1) Ravi, Sutlej and Beas to India and Indus, Chenab and Jhelum to Pakistan

2) Ravi, Sutlej and Beas to Pakistan and Indus, Chenab and Jhelum to India

3) Meghana, Padma, and Someshwari to India and Indus, Mahananda, and Kosi to Pakistan

4) None of these

(2) àH$mePmoVmVrb ñWio
1) JmoXmdar ZXrZo ‘hmamï´>mÀ¶m EHy$U ^m¡Jmo{bH$ joÌmn¡H$s ...... joÌ ì¶mnbo Amho.

1) 25% 2) 80% 3) 49% 4) 60%
1) Godavari river covers area out of total geographical area ofMaharashtra.

1) 25% 2) 80% 3) 49% 4) 60%
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2) nyd© A{’«$Ho$Vrb IMXarV hr gamodao AmT>iVmV.
a) Ý¶mgm Am{U éS>moë’$ b) pìh³Q>moar¶m
c) gwno[aAa Am{U {‘{MJZ d) Bao
n¶m©¶r CÎmao …
1) (a) Am{U (d) 2) (b) ’$º$ 3) (c) Am{U (d) 4) (d) ’$º$

2) These lakes are occurred in the rift valley in East Africa.

a) Nyasa and Rudolf b) Victoria

c) Superior and Michigan d) Erie

Answer options :

1) (a) and (b) 2) Only (b) 3) (c) and (d) 4) Only (d)

3) '’y${O¶m‘m' hm à{gÕ Ádmbm‘wIr OnmZÀ¶m H$moUË¶m ~oQ>mda Amho?
1) ³¶wew 2) hmoÝew 3) {eH$moHy$ 4) hmo³¶mS>mo

3) ‘Fujiyama’ is the famous voleano occurred in which island in Japan ?

1) Kyushu 2) Honshu 3) Shikoku 4) Hokkaido

4) OJmVrb Imbrbn¡H$s H$moUVo ‘hmÛrnr¶ eoë’$ gdm©V ‘moR>o Amho?
1) {Mbr g‘wÐVQ>r¶ ŷI§S> 2) ~°{’$Z ~oQ> ŷI§S>
3) g{~©¶Z ŷI§S> 4) ~°a|Q²g Imoao

4) Which of the following continental shelves in the world is the largest?

1) Chilean Coastal Shelf 2) Baffin Island Shelf

3) Serbian Shelf 4) Barents Basin

5) ‘hmamï´>mVrb ImS>çm§À¶m g§X^m©V Imbrb {dYmZm§da {dMma H$am.
A) nmVmiJ§Jm ZXrda Ya‘Va ImS>r Amho. ~) ewH$ ZXrda ~mUH$moQ> ImS>r Amho.
n¶m©¶r CÎmao …
1) A ~amo~a ~ MyH$ 2) A MyH$ ~ ~amo~a 3) XmoÝhrhr ~amo~a 4) XmoÝhrhr MyH$

5) Consider the following statements regarding the creeks in Maharashtra.

a) There is Dharamtar creek on the river Patalganga.

b) Bankot creek is located on the river Shuk.

Answer Options :

1) a correct b wrong 2) a wrong b correct 3) Both are correct 4) Both are wrong

6) ¶mo½¶ Om§oS>çm Owidm
ñV§̂  I (ZXr) ñV§̂  II (Ocme¶)
a) ^r‘m i) ehmOr gmJa
b) Hw$H$S>r ii) VmZmOr gmJa
c) doid§S>r iii) ¶ed§V gmJa
d) ‘wR>m iv) ¶ogmOr H§$H$ gmJa
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)
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6) Match the correct pairs.

Column I (River)  Column II (Lake)

a) Bhima i) Shahaji Sagar

b) Kukadi ii) Tanaji Sagar

c) Velwandi iii) Yashwant Sagar

d) Mutha iv) Yesaji Kank Sagar

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (ii) (iii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)

7) Adf©UàdU nmUbmoQ> joÌmÀ`m gw{dYogmR>r n¥ð>^mJmÀ`m nmÊ`mÀ`m àUmbrMo à^mdr ì`dñWmnZ H$aÊ`mgmR>r JmoXmdar
ZXrda ~m§YÊ`mV Ambobm OJmVrb gdm©V ‘moR>m ~hþCÔoer` OrdZ qgMZ àH$ën H$moUVm Amho?
1) {ZOm‘ gmJa àH$ën 2) {ga‘ gmJa àH$ën 3) H$mò Zm Obme` 4) H$miol²da‘ àH$ën

7) Which is the world's largest multipurpose life irrigation project constructed on the Godavari River

for effective management of surface water system to facilitate drought prone watershed areas ?

1) Nizam sagar Project 2) Siram Sagar Project

3) Koyana reservoir 4) Kaleswaram Project

8) ‘hmamï´>mVrb ObàH$ën d Ë¶m§À¶m nmUr gmR>çmV Agbobr Zmdo ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
ObàH$ën Ob gmR>çm§Mo Zmd
a) H$mo¶Zm i) ZbX‘¶§VrgmJa
b) §̂S>maXam ii) ZmWgmJa
c) Aßna dYm© iii) {edgmJa
d) Om¶H$dmS>r iv) AmW©a gamoda
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (iv) (ii) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (i) (ii)

8) Match the correct pairs of water project and the name of its water storage in Maharashtra :

Water Project Name of Water Storage

a) Koyana i) Nala Damayanti Sagar

b) Bhandardara ii) Nathsagar

c) Upper wardha iii) Shivsagar

d) Jayakwadi iv) Arthar Sarovar

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (iv) (ii) (iii)

3) (iv) (iii) (ii) (i)

4) (iii) (iv) (i) (ii)
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9) Oc{dÚwV àH$ën Am{U {d^mJ Imcr XoÊ¶mV Amco AmhoV . ¶mo½¶ OmoS>çm Owidm.
   ñV§̂  I   ñV§̂  II

a) gy¶m© i) A‘amdVr
b) XþYJ§Jm ii) Zm{eH$
c) H$a§OdU iii) nwUo
d) ehmZya iv) H$moH$U
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iv) (iii) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (ii) (iii) (iii)

9) Hydro power projects and zone given below. Match the correct pairs.

 Column I Column II

a) Surya i) Amaravati

b) Dudhganga ii) Nashik

c) Karanjwan iii) Pune

d) Shahanoor iv) Konkan

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iv) (iii) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (ii) (iii) (iii)

10) Imcrcn¡H$s H$moUVr OmoS>r ¶mo½¶ Zmhr ?
1) VmoaU‘mi - AñV§̂ m 2) JmdrcJS>-{MIcXam 3) Am§~mocr - Ja‘gwa 4) {Mamocr-JS>{Mamocr

10) Which of the following pair is not correct ?

1) Toranmal-Asthambha 2) Gavilgad-Chikhaldara

3) Amboli-Garamsur 4) Chiroli-Gadchiroli

11) W§S> hdoMr {R>H$mUo d Vo H$moUË¶m {OëømV AmhoV ho Imcr {Xco Amho. Ë¶m§À¶m ¶mo½¶ OmoS>çm cmdm.
   {Oëhm W§S> hdoMo {R>H$mU
A) gmVmam I) Oìhma
~) Z§Xþa~ma II) I§S>mim
H$) nyUo III) ‘hm~ioída
S>) nmcKa IV) VmoaU‘mi
n¶m©¶r CÎmao :

A ~ H$ S>
1) I II III IV

2) III I IV I

3) II I III IV

4) III IV II I
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11) Below Hill Station and the districts in which they are located are given. Match the correct pairs.

District Hill Station

a) Satara I) Jawahar

b) Nandurbar II) Khandala

c) Pune III) Mahabaleswar

d) Palghar IV) Toranmal

Answer Options :

A B C D

1) I II III IV

2) III I IV I

3) II I III IV

4) III IV II I

12) ‘mWoamZ ho W§S> hdoMo {R>H$mU H$moUË¶m {OëømV pñWV Amho ?
1) R>mUo 2) am¶JS> 3) aËZm{Jar 4) nwUo

12) In which district is Matheran hill station situated?

1) Thane 2) Raigad 3) Ratnagiri 4) Pune

13) ¶mo½¶ OmoS>çm Owidm
amÁ¶          n¶©Q>Z ñWi

a) Oå‘y d H$mí‘ra i) VaU VmaU, ~m~m ~H$mbm
b) {h‘mMb àXoe ii) A§~mbm, ^S>H$b gamoda
c) n§Om~ iii) Ad§Vrnya, AMbrJmoånm
d) h[a¶mUm iv) {ÌbmoH$ZmW, Z¡ZmXodr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (i) (ii)

13) Match the following :

  State        Tourist Centre

a) Jammu and Kashmir i) Taran Taran, Baba Bakala

b) Himachal Pradesh ii) Ambala, Bhadkal lake

c) Punjab iii) Avantipur, Alachigonpa

d) Haryana iv) Triloknath, Nainadevi

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (iii) (iv) (i) (ii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (i) (ii)
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14) ‘hmamï´> amÁ¶mVrb n{hbm n¶©Q>Z {Oëhm åhUyZ ...... ¶m {Oëømg ‘mZ {‘imbm Amho.
1) A‘amdVr 2) H$moëhmnya 3) qgYwXwJ© 4) nwUo

14) This district has got the honor of being the first tourism district of Maharashtra state.

1) Amravati 2) Kolhapur 3) Sindhudurg 4) Pune

15) 'W§S> hdoÀ¶m ñWimMr amUr' åhUyZ à{gÕ Ago ñWi H$moUVo Amho?
1) ‘hm~ioída 2) H$moS>mB©H°$Zmb 3) CQ>r/CQ>H$‘§S>b‘ 4) ‘mWoamZ

15) Which place is known as the Queen of Cold Air Places?

1) Mahabaleshwar 2) Kodaikanal 3) Ooty/Utkamandalam4) Matheran

16) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
A) ‘hmamï´>mV 730 nyd© Vo 740 nyd© aoImd¥Îmmda H$‘r nmD$g nS>Vmo.
~) dYm©-d¡ZJ§JoÀ¶m Imoè¶mV B©emÝ¶ ‘mÝgyZMm nmD$g nS>Vmo.
H$) {‘aO nojm M§ÐnyaMo nO©Ý¶mMo {Xdg H$‘r AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ A Am{U ~ 2) {dYmZ ~ Am{U H$ 3) {dYmZ ~ 4) {dYmZ A, ~ Am{U H$

16) Which of the following statements are correct ?

a) There is less rainfall on 73° East to 74° East longitude in Maharashtra.

b) Wardha-Wainganga basin receives rainfall from North-East monsoon.

c) There are less rainfall days in Chandrapur than Miraj.

Answer Options :

1) Statement a and b 2) Statement b and c

3) Statement b 4) Statement a, b and c

17) gømÐrÀ¶m nyd©oH$S>rb CVmamMm ^mJ H$moUË¶m ZmdmZo AmoiIbm OmVmo?
1) KmQ>‘mWm 2) H$moH$U 3) ‘mdi 4) ‘amR>dmS>m

17) By which name is the part of the eastern slope of Sahyadri known as ?

1) Ghatmatha 2) Konkan 3) Maval 4) Marathwada

18) g§¶wº$ amï´>mMr 27 dr OmJ{VH$ hdm‘mZ ~Xb n[afX H$moR>o Am¶mo{OV H$aÊ¶mV Ambr hmoVr?
1) B{Oá 2) a{e¶m 3) O‘©Zr 4) BQ>br

18) Where was the United Nations 27" World Climate Change conference held ?

1) Egypt 2) Russia 3) Germany 4) Italy

19) OmJ{VH$ Amamo½¶ g§KQ>ZoZo (WHO) Zo Imbrbn¡H$s H$moUVr n¶m©daU Amamo½¶ g§KQ>Zm {dH${gV Ho$br Amho?
a) g§¶wº$ amï´>m§Mr AÞ Am{U H¥$fr g§KQ>Zm (FAO)

b) n¶m©daU Am{U dZ ‘§Ìmb¶ (MOEF)

c) Amamo½¶ n¶m©daU qbH$ B{Z{eE{Q>ìh (HELI)

d) OmJ{VH$ {ZgJ© g§dY©Z g§KQ>Zm (IUCN)

n¶m©¶r CÎmao …
1) ’$º$ (b) 2) (a) Am{U (b) 3) ’$º$ (c) 4) darb gd© ~amo~a
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19) Which of the following environmental health organizations has been developed by the World

Health Organization (WHO) ?

a) Food and Agriculture Organization of the United Nations (FAO)

b) The Ministry Of Environment and Forest (MOEF)

c) Health Environment Link Initiative (HELD

d) International Union for Conservation of Nature (IUCN)

Answer options :

1) Only (b) 2) (a) and (b) 3) Only (c) 4) all are correct

3) n¶m ŷV gw{dYm, amOH$s¶ ŷJmob
1) dmhZm§À`m dmhVwH$sgmR>r, XmoZ-boZ nwbmgmR>r añË`mMr {H$‘mZ é§Xr ................ Amho.

1) 425 go‘r 2) 750 go‘r 3) 200 go‘r 4) 300 go‘r
1) For vehicular traffic, minimum roadway width for two-lane bridge is ................

1) 425 cm 2) 750 cm 3) 200 cm 4) 300 cm

2) 20 dfmªÀ`m {Vgè¶m añVo `moOZoV, amï´>r` ‘hm‘mJmªMr bm§~r hr XoemÀ`m joÌ’$img ............ Zo ^mJyZ {Xbr OmVo.
1) 20 2) 25 3) 50 4) 75

2) A s per 3rd 20 Year Road Plan, the length of National Highways is given by area of country divided

by ...........

1) 20 2) 25 3) 50 4) 75

3) amoqbJ Q>oaoZ‘YyZ OmUmè¶m amï´>r` ‘hm‘mJmªgmR>r IRC Zo {e’$mag Ho$bobm éqbJ {S>PmB©Z doJ ........... Amho.
1) 120 {H$‘r Vmer 2) 40 {H$‘r Vmer 3) 20 {H$‘r Vmer 4) 80 {H$‘r Vmer

3) The ruling design speed recommended by IRC for National Highways passing through rolling

terrain is ...........

1) 120 kmph 2) 40 kmph 3) 20 kmph 4) 80 kmph

4) amo-amo dmhVwH$sMr gwédmV ^maVmV gd©àW‘ H$moUË¶m aoëdo‘mJm©da Pmbr?
1) CÎma-nyd© gr‘m§V aoëdo‘mJ© 2) X{jU aoëdo‘mJ©
3) H$moH$U aoëdo‘mJ© 4) nyd© aoëdo‘mJ©

4) The row-row transportation started firstly in India on which railway route ?

1) North Eastern border railway route 2) Southern railway route

3) Konkan railway route 4) Eastern railway route

5) ‘hmamï´>mV ...... ¶m ‘hm‘mJm©Mr bm§~r gdm©V H$‘r Amho.
1) gmobmnya - {MÌXþJ© 2) ZmJnya - AãXþ„mJ§O
3) Ýhmdmeodm - niñno 4) AH$mobm - g§JmaoÈ>r

5) The length of this highway in Maharashtra is the shortest.

1) Solapur - Chitradurg 2) Nagpur - Abdullahganj

3) Nhavasheva - Palaspe 4) Akola - Sangareddy
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6) nwT>rc {dYmZm§Mm {dMma H$am.
{dYmZ - I : ‘w§~B© - ZmJnya d ‘w§~B© - nwUo Xþhoar ~«m°S>JoOMo aoëdo‘mJ© AmhoV.
{dYmZ - II : ‘w§~B© - ZmJya d ‘w§~B© - nwUo ‘mJm©da {dOoda MmcUmè¶m AmJJmS>çm AmhoV.
n¶m©¶r CÎmao :
1) {dYmZ - I d II ~amo~a AmhoV 2) {dYmZ - I d II MwH$sMr AmhoV
3) {dYmZ - I ~amo~a na§Vw II MyH$ AmhoV 4) {dYmZ - I MyH$ na§Vw II ~amo~a AmhoV

6) Consider the following statements.

Statement - I : Mumbai-Nagpur and Mumbai-Pune is a double broad gauge railway line.

Statement - II : There are electric trains running on the Mumbai-Nagpur and Mumbai-Pune route.

Answer Options :

1) Statement I and II are correct 2) Statement I and II are incorrect

3) I Statement is correct but II is false 4) I Statement is false but II is coorrect

7) ‘hmamï´>mVrb {dIwaboë¶m dñË¶m§Mr d¡{eîQ>ço Imbr {Xbr AmhoV. ¶mo½¶ d¡{eîQ>ço AmoiIm.
A) KamKam§‘Ü¶o Am§Va {dbJVm AgVo. ~) amhUr‘mZ Cƒ XOm©Mo AgVo.
H$) bmoH$g§»¶m ‘`m©{XV AgVo. S>) dgmhVr àXÿfU ‘wº$ AgVmV.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV Vo AmoiIm.
1) ’$º$ A Am{U ~ 2) ’$º$ H$ Am{U S> 3) ’$º$ A, H$ Am{U S> 4) darb gd©

7) Characteristics of scattered settlements in Maharashtra are given below. Identify the appropriate

features.

A) There is inter-isolation between households.

B) Standard of living is high.

C) Population is finite.

D) Colonies are free from pollution.

Identify which of the above statements are correct.

1) A and B only 2) C and D only 3) A, C and D only 4) All of the above

8) ‘hmamï´>mÀ¶m X»IZ nR>mamda J«m‘rU ^mJm‘Ü¶o Ka ~m§YUrgmR>r ¶m ñWm{ZH$ XJS>mMm dmna Ho$bm OmVmo.
1) Om§̂ m XJS> 2) g§J‘adar XJS> 3) J«°ZmB©Q> XJS> 4) ~ogm°ëQ> XJS>

8) The local rock used to construct houses in rural area on the Deccan Plateau of Maharashtra is

1) Laterite rock 2) Marble rock 3) Granite rock 4) Basalt rock

9) XJS>m§À`m CKS>çm H$S>m§Zm 45° À`m H$moZmV didboë`m Ameba XJS>r ~m§YH$m‘mbm åhUVmV.
1) Amûca ~marH$ {MZmB© 2) Amûca IS>~S>rV CnH$aUo Agbobr {MZmB©
3) Amûcma IXmZr ‘wIr XJS>r ~m§YH$m‘ 4) Amûcma Mm‘’o$S> Jd§S>r

9) The ashlar masonry in which the exposed edges of stones are bevelled off at an angle of 45° is

called

1) Ashlar fine masonry 2) Ashlar rough tooled masonry

3) Ashlar quarry faced masonry 4) Ashlar chamfered masonry
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10) Imbrb {dYmZo {dMmamV ¿¶m …
A) ^maV‘mbm n[a¶moOZm hm H|$Ð gaH$ma Am{U amÁ¶ gaH$mamÛmao am~{dÊ¶mV ¶oUmam ‘hÎdmH$m§jr nm¶m ŷV gw{dYm

H$m¶©H«$‘ Amho.
~) g§V VwH$mam‘ nmbIr ‘mJ© Am{U g§V kmZoída nmbIr ‘mJ© àH$ënm§Mm ^maV‘mbm n[a¶moOZoV g‘mdoe Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) Ho$di A ¶mo½¶ Amho 2) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV
3) Ho$di ~ ¶mo½¶ Amho 4) darbn¡H$s Zmhr

10) Consider the following statements :

a) Bharatmala Pariyojana is an ambitious infrastructure programme being implemented by Central

Government and State Governments.

b) Sant Tukaram Palkhi Marg and Sant Dnyaneshwar Palkhi Marg Projects are included in

Bharatmala Pariyojana.

Which of the statement/s given above is/are correct ?

Answer Options :

1) Only a is correct 2) Both a and b are correct

3) Only b is correct 4) None of the above

11) amÁ¶mVrc ZmJar ^mJm§À¶m XrK©H$mcrZ JaOm§Mm {dMma H$éZ Ë¶m§Mm gw{Z¶mo{OV {dH$mg gmYÊ¶mÀ¶m Ñï>rZo
............ A{^¶mZ am~{dÊ¶mV ¶oVo.
1) ‘mÜ¶{‘H$ {ejm A{^¶mZ 2) ‘hmamï´> aOV O¶§Vr ZJamoËWmZ ‘hmA{^¶mZ
3) CÞV ^maV A{^¶mZ 4) ‘hmamï´> gwdU© O¶§Vr ZJamoËWmZ ‘hmA{^¶mZ

11) Considering the long-term needs of the urban areas of the state, ............ campaign is implemented

in order to achieve their well-planned development.

1) Madhyamik Shiksha Abhiyan

2) Maharashtra Silver Jubilee Upliftment Mahabhiyan

3) Unnat Bharat Abhiyan

4) Maharashtra Suvarna Jubilee Upliftment Mahabhiyan

12) AQ>b nwZé‚mrdZ d ehar n[adV©Z A{^¶mZ (AMRUT) {df¶r Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) AMRUT ho ^maV gaH$maMo à‘wI A{^¶mZ Amho.
2) J¥h{Z‘m©U d ehar ì¶dhma ‘§Ìmb¶ ¶m§Zr ho A{^¶mZ gwê$ Ho$bo Amho.
3) Vo Xoe^amVrb eham§‘Yrb nmÊ¶mÀ¶m nwadR>çmMr AmìhmZo gmoS>{dVo.
4) 25 OyZ 2015 ‘Ü¶o Xoe^amVrb 500 eham§‘Ü¶o Vo H$m¶m©pÝdV H$aÊ¶mV Ambo.

12) Which of the following statements about Atal Mission for Rejuvenation and Urban Transforma-

tion (AMRUT) is not correct ?

1) AMRUT is flagship mission of Government of India

2) It was launched by Ministry of Housing and Urban Affairs

3) It addresses the challenges of water supply in cities across the country

4) It was launched on 25th June, 2015 in 500 cities in the country
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amOH$s¶ ŷJmob
1) Imbrbn¡H$s H$moUË¶m gm‘wÐYwZr‘wio, ^maV lrb§Ho$nmgyZ doJim Pmbm Amho?

1) {O~«mëQ>aMr gm‘wÐYwZr 2)‘bm¸$mMr gm‘wÐYwZr 3) nmëH$Mr gm‘wÐYwZr 4) gw§XmMr gm‘wÐYwZr
1) By which straits of the following is India separates from Sri Lanka ?

1) Strait of Gibralter 2) Strait of Malacca 3) Strait of Palk 4) Strait of Sunda

2) ^maVmÀ¶m àmH¥${VH$ ZH$memV ‘hmamï´> nR>ma Imcrcn¡H$s H$moUË¶m a§JmZo Xe©{dco Amho ?
1) JS>X {hadm 2) {hadm  3) {ndim 4) Vn{H$ar

2) In the physical map of India, Maharashtra plateau is shown by which of the following colours ?

1) Dark green 2) Green 3) Yellow 4) Brown

3) ŷOb àdmh ZH$memgmR>r dmnabobr Xwgar g§km Amho:
1) Am¶gmo-H$ZQy>a ZH$mem 2) Am¶gmon°M ZH$mem
3) âbm`S´m°{bH$ ZH$mem 4) nmoQ>|{Q>Amo‘o{Q´H$ ZH$mem

3) The other term used for groundwater flow map is :

1) Iso-contour map 2) Isopach map

3) Flydraulic map 4) Potentiometric map

4) ‘hmamï´> amÁ¶mMm ^mJ ŷemór¶ÑîQ>çm A{Ve¶ ^¸$‘ Amho. H$maU -
1) hm ŷ̂ mJ {d{dY IS>H$m§nmgyZ ~Zbobm Amho.
2) ¶m ŷ̂ mJmV ê$nm§V[aV IS>H$ ‘moR>çm à‘mUmV AmT>iVmV.
3) hm ŷ̂ mJ àmMrZ IS>H$m§nmgyZ ~Zbobm Amho.
4) ¶m ŷ̂ mJmMo g§VwbZ g‘mZ Amho.

4) Part of the state of Maharashtra is geologically very strong because -

1) This terrain is made up of different rocks

2) Metamorphic rocks are found in abundance in this terrain

3) This terrain is made up of ancient rocks

4) The balance of this terrain is equal

5) npíM‘ n°{g{’$H$ ‘hmgmJamÀ¶m {H$ZmamdVu ^mJmV àm‘w»¶mZo gmJar‘mJ© AmT>iVmV H$maU
1) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘oH$S>rc {H$ZmamdVu ^mJ AYmoJ‘Z joÌmMm Amho.
2) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘ {H$Zmar ^mJmcm g‘m§Va nd©Vam§Jm ngaë¶m AmhoV.
3) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘oH$S>rc ^mJmV I§S>mÝV CVma Vrd« Amho.
4) n°{g{’$H$ ‘hmgmJamÀ¶m npíM‘r ^mJmV gmJarJVm© ‘moR>çm à‘mUmda AmT>iVmV.

5) Trenches are found mainly along the coast of the western Pacific Ocean because

1) The western margin of the Pacific Ocean is the sub-duction zone

2) Along the western border of the Pacific Ocean parallel mountain ranges are aligned

3) The continental slope of the western part of the Pacific Ocean is steep

4) The western part of the Pacific Ocean is characterised by a large number of trenches
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6) ^maVr¶ hdm‘mZemó {d^mJmZo ‘hmamï´> amÁ¶mÀ¶m g§X^m©V Ho$coë¶m nwT>rc {dYmZm§n¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo
gË¶ AmhoV ?
A) H$moH$U, ‘Ü¶-‘hmamï´>, ‘amR>dmS>m d {dX ©̂ Ago ‘hmamï´>mMo Mma hdm‘mZ Cn{d^mJ AmhoV.
~) EHy$U dm{f©H$ nO©Ý¶‘mZmn¡H$s H$moH$UmV 95 Q> o̧$ d {dX^m©V 88 Q> o̧$ nmD$g Z¡F$Ë¶-‘mog‘r F$Vy‘Ü¶o nS>Vmo..
H$) EHy$U dm{f©H$ nO©Ý¶‘mZmn¡H$s ‘Ü¶-‘hmamḯ>mV Am{U ‘amR>dmS>çmV gw‘mao 83 Q>̧ o$ nmD$g Z¡F$Ë¶-‘mog‘r F$Vy‘Ü¶o nS>Vmo.
S>) EHy$U dm{f©H$ nO©Ý¶‘mZmn¡H$s ‘Ü¶-‘hmamḯ>mV Am{U ‘amR>dmS>çmV gw‘mao 75 Q>̧ o$ nmD$g Z¡F$Ë¶-‘mog‘r F$Vy‘Ü¶o nS>Vmo.
darcn¡H$s H$moUVo {dYmZ/{dYmZo gË¶ AmhoV ?
1) A ’$º$ 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ 4) A, ~ Am{U S>

6) Which of the following is/are the correct statement(s) of Indian Meteorological Department

regarding the State of Maharashtra ?

a) Maharashtra has four climatic subdivisions namely ; Konkan, Madhya-Maharashtra, Marathwada

and Vidarbha

b) Konkan receives 95 percent and Vidarbha 88 percent of annual total rainfall during the south-

west monsoon period

c) Madhya-Maharashtra and Marathwada receive around 83 percent of annual total rainfall during

the south-west monsoon season.

d) Madhya-Maharashtra and Marathwada receive around 75 percent of annual total rainfall during

the south-west monsoon season.

Which of the statements given above is/are correct ?

1) a only 2) a and b only 3) a, b and c 4) a,b and d

7) Am{e¶m I§S>mVrb boH$ Q>°qnJMm n{hbm à¶moJ H$mo¶Zm Obme¶mV H$moUË¶m dfu H$aÊ¶mV Ambm?
1) ‘mM© 1974 2) ‘mM© 1967 3) ‘mM© 1999 4) ‘mM© 1975

7) In which year the First experiment of lake tapping in Asia was done in Koyna reservoir ?

1) March 1974 2) March 1967 3) March 1999 4) March 1975

4) g§å‘ocZ, n[afXm
1) 97 do A{Ic ^maVr¶ ‘amR>r gm{hË¶ g§å‘ocZ ‘hmamï´>mV H$moR>o Am¶mo{OV Ho$co Amho ?

1) CXJra-cmVya 2) A§‘iZoa-OiJmd 3) am¶JS> 4) aËZm{Jar
1) Where in Maharashtra is the 97th All India Marathi Literary Conference organized?

1) Udgir-Latur 2) Ammalner-Jalgaon 3) Raigad 4) Ratnagiri

5) àXÿfU d Vmn‘mZ d¥Õr
1) hdm‘mZ ~Xbmg§X^m©V IPCC Zo A§XmO dV©dbm Amho H$s 2100 n ª̀V OmJ{VH$ gamgar n¥ð>^mJmÀ`m Vmn‘mZmV .........

dmT> hmoB©b.
1) 1.1 Vo 4.0°C 2) 1.1 Vo 6.4°C 3) 2.1 Vo 5.0°C 4) 21 Vo 7.4°C

1) The IPCC for climate change has estimated that by 2100 the global average surface warming will

increased by

1) 1.1 to 4.0°C 2) 1.1 to 6.4°C 3) 2.1 to 5.0°C 4) 21 to 7.4°C
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2) dm ỳ àXyfUmÀ`m ~m~VrV, {g‘|Q> Yyi Am{U âbm` A°eMo H$U AmH$ma‘mZmÀ`m loUrV òVmV.
1) 0.001 Vo 0.01 {‘‘r 2) 0.01 Vo 100 {‘‘r 3) 100 Vo 1000 {‘‘r 4) 1000 Vo 2000 {‘‘r

2) In case of air pollution, particle size of cement dust and fly ash falls in the range of

1) 0.001 to 0.01 µm 2) 0.01 to 100 µm 3) 100 to 1000  µm 4) 1000 to 2000 µm

3) ‘mZdmgmR>r {H$aUmoËgJm©Mm àmUKmVH$ S>mog Amho
1) 102-103 a°S>g 2) 103 -105 a°S>g 3) 107 -109 a°S>g 4) 105-107 a°S>g

3) The lethal dose of irradiation for human being is

1) 102-103 rads 2) 103 -105 rads 3) 107 -109 rads 4) 105-107 rads

4) EHy$U ~rAmoS>rn¡H$s {H$Vr Q> o̧$ gm§S>nmÊ`mMm n{hbm Q>ßnm ~rAmoS>r Amho?
1) 90% 2) 100% 3) 99% 4) 98.5%

4) How much percentage of the total BOD is the first stage BOD for sewage ?

1) 90% 2) 100% 3) 99% 4) 98.5%

5) Am°J}ZmoŠbmoarZ H$sQ>H$ZmeH$m§Mr CXmhaUo AmhoV/AmhoV:
1) ’$º$ DDT 2) ’$º$ qbS>oZ
3) ’$º$ E§S>mogë’$mZ 4) S>rS>rQ>r, qbS>oZ Am{U E§S>mogë’$mZ

5) The example(s) of organochlorine pesticides is/are:

1) only DDT 2) only lindane

3) only endosulfan 4) DDT, lindane and endosulfan

6) NFPA Zwgma, BLEVE Mo nyU© ê$n H$m` Amho?
1) ~m°̀ ba H$‘r {dñVma H$aUmao ~mîn ñ’$moQ> 2) ~m°̀ ba H$‘r {dñ’$moQ>H$ ‘hÎdnyU© CnH$aUo
3) CH$iË`m nmVirÀ`m g‘Vwë` OmoaXma ñ’$moQ> 4) CH$iË`m ÐdmMm {dñVma H$aUmao dmîn ñ’$moQ>

6) As per NFPA, what is the full form BLEVE?

1) Boiler Low Expanding Vapor Explosion

2) Boiler Less Exploding Vital Equipment

3) Boiling Level Equivalent Vigorous Explosion

4) Boiling Liquid Expanding Vapor Explosion

7) O{‘ZrV {dfmar agm`Zo gmoS>l`m‘wio nwT>rb {nH$m§Mr CJdU hmoV Zmhr.
a) Ádmar b) gỳ ©’y$b c) D$g d) Vri
darbn¡H$s H$moUVo/`mo½` AmhoV?
1) ’$º$ a 2) a Am{U b ’$º$ 3) a, b Am{U c ’$º$ 4) gd© a, b, c Am{U d

7) leave toxic chemicals in the soil which donot allow germination of subsequent crops.

a) Sorghum b) Sunflower c) Sugar cane d) Sesamum

Which of the above is/are correct ?

1) a only 2) a and b only 3) a,b and c only 4) All a,b,c and d

8) ìhob, S>m°pë’$Z BË`mXr àOmVr. _____V§Ì dmnê$Z ‘mabo OmVmV.
1) ’$º$ BboŠQ´moŠ ẁeZ 2) ’$º$ Q°́qnJ 3) ’$º$ hmny©qZJ     4) Q°́qnJ Am{U BboŠQ´moŠ ẁeZ XmoÝhr

8) Species such as whale, dolphin, etc. are killed using ______ technique(s).

1) only electrocution 2) only trapping

3) only harpooning 4) both trapping and electrocution
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9) VUZmeH$mMr H¥$Vr ñdrH$mabobr nÕV Amho
1) MN àH$meg§íbofU Am{U ídgZ amoIVo
2) O¡dg§íbofU Am{U noer {d^mOZ à{H«$ òg BZ{h{~Q> H$aVo
3) Agm‘mÝ` D$VH$m§Mm {dH$mg hmoB©b Am{U CJdU à{H«$ òg à{V~§Y hmoB©b
4) darb gd©

9) Accepted mode of action of herbicide is

1) MN inhibits the photosynthesis and respiration

2) Itinhibits the biosynthesis and cell division process

3) There will be abnarmal tissue development and inhibition of the germination process

4) All of the above

10) ‘yi gm‘J«rnmgyZ ‘mVrMo H$U doJio H$aUo, `mo½` EO§Q>Ûmao Ë`m§Mr dmhVyH$ H$aUo Am{U JwéËdmH$f©U eº$s¨‘wio EImÚm
{R>H$mUr O‘m hmoUo `mbm Ago åhUVmV:
1) àdoJH$ Yyn 2) ‘mVrMr Yyn 3) nmÊ`mMr Yyn 4) dmè`mMr Yyn

10) The detachment of soil particles from parent material, their transportation by suitable agent and

deposition due to gravitational forces at some place is known as :

1) Accelerated erosion 2) Soil erosion 3) Water erosion 4) Wind erosion

11) Imbrbn¡H$s H$moUVr H$sS> H$mob {nH$m§da h„m H$aVo?
1) ‘obr~J 2) E°{’$S> 3) nm§T>ar ‘mer 4) ~waer

11) Which of the following pests attacks cole crops ?

1) Mealybug 2) Aphid 3) Whitefly 4) Fungus gnat

12) Imbrbn¡H$s EHy$U ñQ>o‘ naOrdr H$moUVm Amho?
1) Hw$ñHw$Q>m 2) pñQ´Jm 3) Amoamo~«m§M 4) bm°a°ÝWg

12) Which of the following is total stem parasite ?

1) Cuscuta 2) Striga 3) Orobranche 4) Loranthus

13) VUZmeH$........... àH$mao H$m¶© H$aVo.
1) MN àH$meg§íbofU Am{U ídgZ amoIVo
2) O¡dg§íbofU Am{U noer {d^mOZ à{H«$ òg BZ{h{~Q> H$aVo
3) Agm‘mÝ` D$VH$m§Mm {dH$mg hmoB©b Am{U CJdU à{H«$ òg à{V~§Y hmoB©b
4) darb gd©

13) Accepted mode of action of herbicide is

1) MN inhibits the photosynthesis and respiration

2) Itinhibits the biosynthesis and cell division process

3) There will be abnarmal tissue development and inhibition of the germination process

4) All of the above

6) n¶m©daU g§dY©Z
1) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, àË òH$ H$maImÝ`mV, OmñVrV OmñV nadmZJr`mo½` ÜdZr EŠgnmoOa nmVir,

gVV qH$dm AZoH$ AënH$mbrZ EŠgnmoOa, XaamoO AmR> Vmgm§gmR>r _____________ Amho.
1) 40 dBA 2) 90 dBA 3) 120 dBA 4) 140 dBA
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1) As per Maharashtra Factories Rules 1963, in every factory, the maximum permissible noise

exposure levels, continuous or a number of short-term exposures, for eight hours per day is ___.

1) 40 dBA 2) 90 dBA 3) 120 dBA 4) 140 dBA

2) J§Jm H¥$Vr `moOZm H$Yr gwê$ Pmbr?
1) 2001 2) 1986 3) 1982 4) 2005

2) When the Ganga Action Plan was started?

1) 2001 2) 1986 3) 1982 4) 2005

3) amï´>r` ì`mK« g§dY©Z àm{YH$aUmMr ñWmnZm dÝ`Ord (g§ajU) A{Y{Z`‘, 1972 A§VJ©V _____ ‘Yrb XwéñVrZwgma
H$aÊ`mV Ambr.
1) 2002 2) 1991 3) 2006 4) 2017

3) The National Tiger Conservation Authority was introduced under the Wild Life (Protection) Act,

1972, as per the amendment in the year ______.

1) 2002 2) 1991 3) 2006 4) 2017

4) ‘hmamḯ>mVrc g‘wÐ {H$Zmam n¶©Q>Zmg MmcZm {‘imdr åhUyZ ""~rM e°H$ YmoaU" am~{dÊ¶mMm {ZU©¶ emgZmZo H$Yr KoVcm?
1) {XZm§H$ 2 Zmoìh|~a, 2020 2) {XZm§H$ 28 Zmoìh|~a, 2020
3){XZm§H$ 15 ‘mM©, 2021 4) {XZm§H$ 17 Am°JñQ>, 2020

4) When did the government decide to implement "Beach Shack Policy" to promote beach tourism

in Maharashtra?

1) Dated November 2, 2020 2) Dated November 28, 2020

3) Dated 15th March, 2021 4) Dated 17th August, 2020

5) "{‘ï>r" ¶moOZ|VJ©V Ima’w$Q>rMr bmJdS> H$aÊ¶mgmR>r ‘hmamï´>mVrb am¶JS>‘Yrb {H$Vr {R>H$mUo {ZdS>Ê¶mV Ambr AmhoV?
1) 1 2) 2 3) 3 4) 4

5) How many locations from Raigad in Maharashtra have been selected to plant Mangroves under

‘Mishti’ scheme?

1) 1 2) 2 3) 3 4) 4

6) ^maVr` ‘mZH$ ã ẁamo (BIS) Ûmao A`mo½`VogmR>r EHy$U TDS gmR>r {nÊ`mÀ`m nmÊ`mMr ‘mZHo$ H$moUVr {Z{X©ï> Ho$br
AmhoV?
1) Q>rS>rEg 4000-5000 {‘J«°/{bQ>a 2) Q>rS>rEg 3000-4000 {‘J«°/{bQ>a
3) Q>rS>rEg 2000-3000 {‘J«°/{bQ>a 4) TDS 2000 {‘J«°/{bQ>a

6) What are the drinking water standards specified for total TDS by the Bureau of Indian Standards

(BIS) for unsuitability ?

1) TDS 4000-5000 Mg/litre 2) TDS 3000-4000 Mg/litre

3) TDS 2000-3000 Mg/litre 4) TDS upto 2000 Mg/litre

7) ^maVmVrb nmUrnwadR>çmÀ`m ‘yb ŷV JaOm§gmR>r dmnaë`m OmUmè¶m ^maVr` ‘mZH$ g§{hVoMo Zmd gm§Jm.
1) IS : 12183 2) IS : 1343 3) IS : 456 4) IS : 1172

7) Name the Indian Standard Code used for basic requirements of water supply in India.

1) IS : 12183 2) IS : 1343 3) IS : 456 4) IS : 1172
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8) ‘m`H«$mo-dm°Q>a-eoS> ho ‘moO‘mnmMo EH$ EH$H$ Amho Á`m‘Ü ò .......... joÌ’$i Agboë`m gd© O{‘ZrMm g‘mdoe hmoVmo
Am{U [aO aofoZo doT>boë`m gm‘mÝ` q~Xy qH$dm AmCQ>boQ>n ª̀V EHy$U Ymdni hmoÊ`mg hmV^ma bmdVmo.
1) 1-100 hoŠQ>a 2) 100-1000 hoŠQ>a 3) 1000-10,000 hoŠQ>a 4) 50,000 hoŠQ>a

8) The micro-water-shed is a unit of measurement that encompasses all land that has an area of

......... and contributes to total run-off to a common point or outlet surrounded by a ridge line.

1) 1-100 Hect 2) 100-1000 Hect 3) 1000-10,000 Hect 4) 50,000 Hect

9) ^maVmV ŷObmMo {H$Vr àm§V AmhoV? ‘hmamï´> amÁ` H$moUË`m àm§VmV òVo?
1) 8 àm§V, S>o̧ $Z Q°́n àm§V 2) 6 àm§V, àrH°$på~«̀ Z ñ’${Q>H$mgmaIo àm§V
3) 5 àm§V, Jm|S>dmZm JmimMm àm§V 4) 7 àm§V, H±{~«̀ Z JmimMo àm§V

9) How many groundwater provinces are demarcated in India ? Maharashtra state comes under which

province ?

1) 8 provinces, Deccan trap province

2) 6 provinces, Precambrian crystalline provinces

3) 5 provinces, Gondwana sedimentary provinces

4) 7 provinces, Cambrian sedimentary provinces

10) Imbrbn¡H$s `mo½` {dYmZ emoYm:
1) ‘hmamï´>mV gw‘mao 22,250 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 50% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdí`H$ Amho.
2) ‘hmamï´>mV gw‘mao 85,450 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 70% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdûm`H$ Amho.
3) ‘hmamï´>mV gw‘mao 65,450 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 75% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdûm`H$ Amho.
4) ‘hmamï´>mV gw‘mao 44,185 gyú‘ nmUbmoQ> AmhoV. A§XmOmZwgma gw‘mao 67% ^m¡Jmo{bH$ joÌmbm nmUbmoQ> à{H«$`m

Amdûm`H$ Amho.
10) Trace out the correct statement from the following :

1) There are in all around 22,250 micro watersheds in Maharashtra. According to estimate around

50% of the geographical areas requires watershed treatment.

2) There are in all around 85,450 micro watersheds in Maharashtra. According to estimates around

70% of the geographical area requires watershed treatment.

3) There are in all around 65,450 micro watersheds in Maharashtra. According to estimates around

75% of the geographical area requires watershed treatment.

4) There are in all around 44,185 micro watersheds in Maharashtra. According to estimate around

67% of the geographical area requires watershed treatment.

11) ‘wim Am{U gbJ‘ `mdarb nm§T>am J§O ’$dmaUrÛmao {Z §̀{ÌV Ho$bm OmVmo.
1) 0.02% H$m°na gë’o$Q> 2) 0.20% S>m`WoZ PoS>-78
3) {PZo~Mo 0.20% 4) 2% ‘°ÝH$moPo~

11) White rust on radish and turnip are controlled by spraying ......

1) 0.02% Copper Sulphate 2) 0.20% Dithane Z-78

3) 0.20% of Zineb 4) 2% Mancozeb
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12) ‘Ëñ` IVm‘Ü ò NPK Mo à‘mU ......, ...... Am{U ...... Amho.
1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%
3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

12) The percent amount of NPK in Fish manure is ......, ...... and ......

1) 7.80%, 2.30%, 2.22% 2) 5.20%, 1.00%, 1.40%

3) 4.30%, 2.00%, 1.00% 4) 4.10%, 3.90%, 0.30%

13) EH$ hoŠQ>a joÌ Vo EH$ g|{Q>‘rQ>a Imobrn ª̀V H$ìha H$aÊ`mgmR>r Amdûm`H$ Agboë`m nmÊ`mMo à‘mU Š ẁ{~H$ ..........‘rQ>a
Amho.
1) 10  2) 100 3) 1000 4) 10000

13)  A volume of water necessary to cover an area of one hectare to a depth of one centimeter is equal

to cubic ..........metre.

1) 10  2) 100 3) 1000 4) 10000

15) {nH$mgmR>r dmnaë`m OmUmè`m amgm`{ZH$ IVm§À`m VwbZoV, Z°Zmo IVm§Mr ........ nQ> H$‘r JaO AgVo.
1) 40-60 2) 60-80 3) 80-100 4) 100-120

14) Nanofertilizers are having .......... times less requirement as compared to chemical fertilizers

applied to crop.

1) 40-60 2) 60-80 3) 80-100 4) 100-120

15) ^maVmVrb V¥UYmÝ` Vm§~oam/J§OamoJmÀ`m g§emoYZmV ........... ¶m§Zr ‘hÎdnyU© `moJXmZ {Xbo.
1) ‘w§S>Hy$a 2) ZmJamOZ 3) nm`H$ E‘. E‘. 4) ‘ohVm H$. gr.

15) Significant contribution of disease cycle of cereal rust in India was made by

1) Mundkur 2) Nagarajan 3) Payak M. M. 4) Mehta K. C.

16) Imbrbn¡H$s H$moUVr g§ñWm AmVm n`m©daUr` VmUmgmR>r {nHo$ A{YH$ cdMrH$ H$er ~Zdm`Mr `mMm emoY KoV AmhoV?
1) FAO 2) WMO 3) IPCC 4) CGIAR

16) Which of the following institutes are now investigating how to make crops more resilient to

environmental stress ?

1) FAO 2) WMO 3) IPCC 4) CGIAR

17) hdm‘mZmÀ`m KQ>H$m§À`m à{VgmXmV PmS>m§‘Ü ò nU©g§̂ ma, ’w$bo, ’$iYmaUm BË`mXtÀ`m {dH$mgmVrb h§Jm‘r ~Xbm§gmR>r
dmnabm OmUmam eãX ................ Amho.
1) OrZmobm°Or 2) ’o$Zmobm°Or 3) BH$mobm°Or 4) ’$m°aoñQ´r

17) The term used to refer to the seasonal changes in the development of foliage, flowering, fruiting,

etc. in trees in response to climatic factors is ................

1) Genology 2) Phenology 3) Ecology 4) Forestry

18) àdoe Am{U bm^-dmQ>n _____A§VJ©V V`ma Ho$bo Jobo.
1) ~Z© H$ÝìhoÝeZ 2) dÝ`Ord (g§ajU) H$m`Xm
3) ZmJmò m àmoQ>moH$m°b 4) n`m©daU g§ajU H$m`Xm

18) Access and benefit-sharing’ was formulated under the ______.

1) Bern Convention 2) Wild Life (Protection) Act

3) Nagoya Protocol 4) Environmental Protection Act
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19) 2016-17 À¶m AmH$S>odmarZwgma ‘hmamï´>mVrc Am{Xdmgr {OëømVrc A{VKZXmQ> dZmÀN>mXZmMo à‘mUmZwgma {Oëøm§Mm
CVaVm H«$‘ AmoiIm.
1) JS>{Mamocr, Jm|{X¶m, Zm§XoS>, M§Ðnya 2) M§Ðnya, Zm§XoS>, Jm|{X¶m, JS>{Mamocr
3) Jm|{X¶m, Zm§XoS>, M§Ðnya, JS>{Mamocr 4) JS>{Mamocr, M§Ðnya, Jm|{X¶m, Zm§XoS

19) According to 2016-17 data, arrange the Tribal districts of Maharashtra in descending order in

terms of area under very dense forest cover.

1) Gadchiroli, Gondia, Nanded, Chandrapur 2) Chandrapur, Nanded, Gondia, Gadchiroli

3) Gondia, Nanded, Chandrapur, Gadchiroli 4) Gadchiroli, Chandrapur, Gondia, Nanded

20) ^m¡Jmo{bH$ joÌ’$imÀ¶mÑï>rZo ^maVmVrb OrdmdaU Ama{jV ñWio MT>Ë¶m H«$‘mZo bmdm.
1) {Zb{Jar, Z§XmXodr, gw§Xa~Z, ‘mZmaMo AmImV 2) Z§XmXodr, {Zb{Jar, g§wXa~Z, ‘mZmaMo AmImV
3) ‘mZmaMo AmImV, Z§XmXodr, {Zb{Jar, gw§Xa~Z 4) gw§Xa~Z, {Zb{Jar, Z§XmXodr, ‘mZmaMo AmImV

20) Arrange the biosphere reserve sites in India in ascending order according to geographical area.

1) Nilgiri, Nanda Devi, Sunderban, Gulf of Mannar

2) Nanda Devi, Nilgiri, Sunderban, Gulf of Mannar

3) Gulf of Mannar, Nanda Devi, Nilgiri, Sunderban

4) Sunderban, Nilgiri, Nanda Devi, Gulf of Mannar

21) X{jUr CîUH${Q>~§Yr` AmÐ© gXmh[aV O§Jbo ............ ‘Ü ò AmT>iVmV.
a) ‘hmamï´> b) H$Zm©Q>H$ c) Ho$ai d) A§X‘mZ
n¶m©¶r CÎmao …
1) (a), (b)Am{U (c) 2)(a), (b), (c) Am{U (d) 3) ’$º$ (c) 4) ’$º$ (d))

21) Southern Tropical Wet Evergreen forests are found in .............

a) Maharashtra b) Karnataka c) Kerala d) Andamans

Answer options :

1) (a), (b) and (c) 2) (a), (b), (c) and (d) 3) Only (c) 4) Only (d)

22) ¶mo½¶ OmoS>çm Owidm.
   {Oëhm A^¶maÊ¶o
A) R>mUo i) gmJaoída
~) gm§Jbr ii) Vw§Jmaoída
H$) JS>{Mamobr iii) ZaZmim
S>) AH$mobm iv) Mnamim
n¶m©¶r CÎmao …
1) A - i, ~ - ii, H$ - iii, S> - iv 2) A - iii, ~ - ii, H$ - i, S> - iv
3) A - ii, ~ - i, H$ - iv, S> - iii 4) A - i, ~ - iv, H$ - ii, S> - iii

22) Match the correct pairs.

Districts Sanctuaries

A) Thane i) Sagareshwar

B) Sangli ii) Tungareshwar

C) Gadchiroli iii) Narnala

D) Akola iv) Chaparala
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Answer options :

1) A—i, B—ii, C—iii, D—iv 2) A—iii, B—ii, C—i, D—iv

3) A—ii, B—i, C—iv, D—iii 4) A—i, B—iv, C—ii, D—ii

23)  amï´>r` CÚmZo Ë`m§À`m amÁ`mer Owidm :
a) ~m§YdJS> amï´>r` CÚmZ i) CÎma àXoe
b) XMrJ‘ amï´>r` CÚmZ ii) n{í²M‘ ~§Jmb
§c) XwYdm amï´>r` CÚmZ iii) ‘Ü` àXoe
d) gw§Xa~Z amï´>r` CÚmZ iv) Oå‘y Am{U H$mûm‘ra
CÎma n`m©̀ :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (iv) (iii) (i) (ii)

23) Match the National Parks with their State :

a) Bandhavgarh National Park i) Uttar Pradesh

b) Dachigam National Park ii) West Bengal

c) Dudhwa National Park iii) Madhya Pradesh

d) Sundarban National Park iv) Jammu and Kashmir

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (iv) (i) (ii)

3) (i) (ii) (iv) (iii)

4) (iv) (iii) (i) (ii)

24)  ^maVmVrb à‘wI bmHy$S>-CËnmXH$ dZñnVt‘Ü ò ho g‘m{dï> Amho:
1) AH«$moS> 2) XodXma 3) nm§T>am {dbmo 4) darb gd©

24) The principal timber-yielding plants of India include :

1) Walnut 2) Deodar 3) White willow 4) All of the above

25) ............... d¥j, Á`mbm gm‘mÝ`V… ̂ maVr` Am~Zyg Agohr åhUVmV, Á`mMr nmZo ̂ maVmVrb nma§nm[aH$ {gJmaoQ> ~rS>r
({~S>r) V`ma H$aÊ`mgmR>r dmnabr OmVmV.
1) AOw©Z  2) V|Xy 3) ~m~wb 4) I¡a

25) ............... tree, commonly also called Indian ebony, the leaves of which are used in the manufac-

ture of beedis (bidis), the traditional cigarette of India.

1) Arjuna 2) Tendu 3) Babul 4) Khair

26) ''n¶m©daU åhUOo gOrdm§À¶m qH$dm Ordg‘yhm§À¶m OrdZ, dmT>, {dH$mg d ‘¥Ë¶yda n[aUm‘ H$aUmar gd© n[apñWVr, {VMr
H$maHo$ d Ë¶m§Mm à^md hmo¶''. n¶m©daUmMr hr ì¶m»¶m H$moUr Ho$cr ?
1) {dœH$moe 2) {~«Q>m{ZH$m {dœH$moe
3) E. gr. Q>mÝgco 4) O°H$s pñ‘W
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26) “Environment means the sum total of all conditions agencies and influences which affect the

development, growth, life and death of an organism, species or race”, Who created this definition

of environment ?

1) Universal Encyclopedia 2) Britanica Encyclopedia

3) A. C. Tansley 4) Jackie Smith

27) UNFCCC Mo nyU© ê$n H$m` Amho?
1) hdm‘mZ ~Xbmda g§̀ wº$ amï´>m§Mo ’«o$‘dH©$ AmMma
2) g§̀ wº$ amï´>m§Mo hdm‘mZ ~Xbmda H|${ÐV H|$Ð
3) hdm‘mZ ~Xbmdarb g§̀ wº$ amï´>m§Mo ’«o$‘dH©$ H$ÝìhoÝeZ
4) g§̀ wº$ amï´> ~§YwËd n[ag§K Am°Z Šbm`‘oQ> M|O

27) What is the full form of UNFCCC ?

1) United Nations Framework Conduct on Climate Change

2) United Nations Focused Centre on Climate Change

3) United Nations Framework Convention on Climate Change

4) United Nations Fraternity Confederation on Climate Change

28) Iwë`m g‘wÐmÀ`m nmÊ`mV h°Mar nmibobo VéU ‘mgo gmoS>Uo åhUyZ AmoiIbo OmVo
a) g‘wÐ AMuZ b) gr gm° c) gr a|qMJ d) ñnm°qZJ
n¶m©¶r CÎmao …
1) ’$º$ a 2) a Am{U b ’$º$ 3) ’$º$ c 4) d ’$º$

28) Release of hatchery reared young fish in open sea water is known as

a) Sea Urchin b) Sea Saw c) Sea Ranching d) Spawning

Answer options :

1) a only 2) a and b only 3) c only 4) d only

29) b°‘o{bS>oÝg eobÀ`m H$moUË`m Wambm ‘moË`mMr AmB© åhUVmV?
1) Z°{H«$`g 2) {àP‘°{Q>H$ 3) no[aAmoñQ°́H$‘ 4) H$m°pÝMAmo{bZ

29) Which layer of Lamellidens shell is called as “Mother of Pearl” ?

1) Nacreous 2) Prismatic 3) Periostracum 4) Conchiolin

30) pñH$q’$J hm N>mQ>UrMm gdm©V hbH$m àH$ma Amho
1) Mhm 2) H$m°’$s 3) dobMr 4) Xmb{MZr

30) Skiffing is the lightest form of prunning in

1) Tea 2) Coffee 3) Cardamom 4) Cinnamon

31) ‘mZdr {H«$`mH$bmnm§À`m à^mdmImbr ñWbr` n[ag§ñWoÀ`m X[aÐr à{H«$ òbm ...... åhUVmV.
1) gmoS>rH$aU 2) dmid§Q>rH$aU 3) AmåbrH$aU 4) O{‘ZrMm èhmg

31) The process of impoverishment of terrestrial ecosystems under impact of human activities is

called ......

1) Sodication 2) Desertification 3) Acidification 4) Land degradation
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32) Imbrbn¡H$s H$moUVr {dYmZo ~|Jbmoa H§$nmopñQ>§J nÕVrgmR>r bmJy AmhoV?
a) ~m`mo{S>J«oS>o~b KZH$Mam Am{U amÌrMr ‘mVr d¡H$pënH$ Wam§‘Ü ò, ‘mVrÀ`m I§XH$mV R>odbr OmVo.
b) ho àm‘w»`mZo A°Zmamo{~H$ ñdê$nmMo Amho.
c) ^amd 3 ‘{hÝ`m§gmR>r {Z`{‘VnUo Mmby Ho$bm OmVmo.
d) ^amd n¥ÏdrÀ`m 15 go‘r WamZo PmH$bobm Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) Am{U (c) 2) ’$º$ (a), (b) Am{U (d)3) ’$º$ (a) Am{U (c) 4) ’$º$ (b) Am{U (c)

32) Which of the following statements are applicable to Bangalore method of composting ?

a) Biodegradable solid waste and night soil is placed in alternate layers, in earthen trenches.

b) It is primarily anaerobic in nature.

c) The fill is turned regularly for 3 months.

d) The fill is covered with 15 cm layer of earth.

Answer options:

1) Only (a), (b) and (c) 2) Only (a), (b) and (d)

3) Only (a) and (c) 4) Only (b) and (c)

33) grdoO Q´rQ>‘|Q> ßbm§Q>À`m {S>PmBZgmR>r Imbrbn¡H$s H$moUVo ‘wÔo d¡Y AmhoV?
a) àË òH$ CnMma à{H«$ ògmR>r EH$mnojm OmñV ẁ{ZQ> àXmZ H$aUo Mm§Jbo.
b) gd© ẁ{ZQ²ggmR>r eŠ`Vmo ~m`nmg Q>mimdoV.
c) hm`S´mo{bH$ {S>PmBZZo Amdûm`H$ VoWo ñd-ñdÀN>VoMm doJ gw{Z{l²MV Ho$bm nm{hOo.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a) Am{U (c) 4) darb gd©

33) Which of the following points are valid for design of sewage treatment plants ?

a) It is better to provide more than one unit for each treatment process.

b) Preferably by-passes should be avoided for all units.

c) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above

34) nmÊ`mÀ`m à{H«$ òÀ`m ~m~VrV Imbrbn¡H$s H$moUVo `m§{ÌH$ âbmoŠ ẁboQ>g©Mo ZwH$gmZ Amho?
1) H$monè`mVrb ‘¥V OmJm 2) Q>mH$sMr H$‘r j‘Vm Amdûm`H$ Amho
3) CÎm‘ âbm°H$ {Z{‘©Vr 4) Am°naoeZ‘Ü ò A{YH$ bd{MH$

34) Which of the following is a disadvantage of mechanical floculators in case of water treatment ?

1) Dead spaces in the corners 2) Less capacity of tank is required

3) Better floc formation 4) More flexible in operation

35) H$moUVr PmS>o ŠcmoamBS>À`m H$‘VaVogmR>r g§doXZerb ‘mZbr OmVmV?
1) Zmai Am{U Vob nm‘ 2) ‘H$m Am{U e|JXmUo
3) e|Jm Am{U H$mnyg 4) Vm§Xyi Am{U Ádmar

35) Which plants are considered sensitive to chloride deficiency ?

1) Coconut and oil palm 2) Maize and groundnut

3) Legumes and cotton 4) Rice and sorghum
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36) Imbrb Owidm :
a) Rhizobium I) PmS>o Am{U PwSw>no `m§Mo ghOrdZ Am{U dmVmdaUmVrb N {ZamH$aU H$aVo.
b) A°PmoQ>mo~°ŠQ>a II) Ho$‘mo-hoQ>amoQ´m°{’$H$ {OdmUy Ádmar, ‘moVr ~mOar, Vm§Xyi `m§À`m ‘wim§‘Ü ò amhVmV.
c) ’«±${H$`m III) ghOrdZ g§~§YmÛmao e|Jm§À`m ‘wim§À`m JmR>r‘Ü ò amhVmV
d) A°Pmopñn[ab‘ IV) Eamo{~H$ Ho$‘mo-hoQ>amoQ´m°{’$H$ Am{U ‘wº$ {Od§V {OdmUy
n¶m©¶r CÎmao …

A ~ H$ S>
1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iii) (iv) (ii) (i)

36) Match the following :

a) Rhizobium I) Symbiotic association with trees and shrubs and fixes atmospheric N.

b) Azotobacter II) Chemo-heterotrophic bacteria associated to live within roots of

sorghum, pearl millet, rice

c) Frankia III)Live in the root nodules of legumes through symbiotic relationship

d) Azospirillum IV)Aerobic chemo-heterotrophic and free living bacteria

Answer options:

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iii) (iv) (ii) (i)

37) AmXe© {hadirÀ`m IVmÀ`m {nH$m‘Ü ò Imbrbn¡H$s H$moUVr dm§N>Zr` d¡{eï²> ò Agbr nm{hOoV?
a) ho e|Jm§Mo nrH$ Agmdo Á`mMr Mm§Jbr ZmoS>çwba gd` Amho
b) ñdV…À`m dmT>rgmR>r nmÊ`mMr JaO H$‘r Agmdr
c) Ë`mMr Imob ê$Q> àUmbr Agmdr Am{U Ë`mV ‘moR>çm à‘mUmV Zm°Z-V§Vw‘` D$VH$ AgmdoV
d) Ë`mV CWi ‘yi àUmbr Am{U {d{eï> V§Vw‘` D$VH$ AgmdoV
n¶m©¶r CÎmao …
1) ’$º$ a, b Am{U c 2) a Am{U b ’$º$ 3) b, c Am{U d ’$º$ 4) a, c Am{U d ’$º$

37) Which of the following desirable characteristics of an ideal green manure crop should possess ?

a) It should be legume crop with good nodular habit

b) It should have litle water requirement for its own growth

c) It should have a deep root system and contain large quantities of non-fibrous tissues

d) It should have a shallow root system and certain fibrous tissues

Answer options :

1) a, b and c only 2) a and b only 3) b, c and d only 4) a, c and d only

38) Imbrbn¡H$s H$moUVo ’$m°ñ’$agMo dmT>Vo emofU gwb^ H$aVo?
1) APQ>mo~°ŠQ>a 2) ~mÏ ỳ {hado e¡dmb 3) ‘m`H$moam`Pm 4) A°pŠQ>Zmo‘m`grQ²g

38) Which one of the following facilitates an increased uptake of phosphorus ?

1) Azotobacter 2) Biue green algae 3) Mycorrhizae 4) Actinomycetes
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39) am`Pmo{~`‘Zo {Z{l²MV Ho$bobm Zm`Q´moOZ `O‘mZ dZñnVrÀ`m Pm`bo‘ dm{hÝ`m§‘YyZ `m ñdê$nmV ñWmZm§VarV Ho$bm
OmVmo.
A) eVmdar ~) ½bwQ>m‘mBZ H$) ½byQ>m{ZZ S>) Wm`{‘Z
darbn¡H$s H$moUVm ’$m°‘© `mo½` Amho/AmhoV?
1) ’$º$ A 2) A Am{U ~ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) H$ Am{U S> ’$º$

39) Nitrogen fixed by the Rhizobium is translocated through xylem vessels of the host plant in the

form of

a) Asparagine b) Glutamine c) Glutanin d) Thiamine

Which of the above form is/are correct ?

1) a only 2) a and b only 3) a, b and c only 4) c and d only

40) Imbrbn¡H$s H$moUVo gmnim H$mngmVrb ho{bH$ìhanm‘wio hmoUmao ZwH$gmZ H$‘r H$aÊ`mg ‘XV H$aVo?
1) ‘H$m 2) Ádmar 3) gỳ ©’y$b 4) P|Sy>

40) Which of the following trap crop helps in reducing damage by Helicoverpa in cotton ?

1) Maize 2) Sorghum 3) Sunflower 4) Marigold

41) H$mhr ’w$bnmIao Am{U nV§Jm§Mo {Z §̀ÌU H$sQ>H$ Aù`m gyú‘OrdmÀ`m ‘XVrZo CÎm‘ àH$mao Ho$bo OmVo Ogo H$s ...... .
1) Ectocarpus secundes 2) Marchantia simlana

3) Bacillus thuringiensis 4) Cladonia rangiferina

41) The insect larvae. of certain butterflies and moths are best controlled with the help of a microbe

such as ...... ......

1) Ectocarpus secundes 2) Marchantia simlana

3) Bacillus thuringiensis 4) Cladonia rangiferina

42) H$moUË¶m amÁ¶mZo n¥Ïdr{XZ 2023 À¶m AZwf§JmZo VrZ ZdrZ 'dÝ¶Ord g§ajU [aPìh©' Kmo{fV Ho$bo AmhoV?
1) Amgm‘ 2) N>ÎmrgJT> 3) amOñWmZ 4) ‘Ü¶àXoe

42) Which state has declared three new Wildlife Conservation Reserves to coincide with Earth Day

2023?

1) Assam 2) Chhattisgarh 3) Rajasthan 4) Madhya Pradesh

43) NABL åhUOo :
1) à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i
2) MmMUr à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i
3) H°${b~«oeZ à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i
4) MmMUr Am{U H°${b~«oeZ à`moJemim§gmR>r amï´>r` ‘mÝ`Vm ‘§S>i

43) NABL stands for :

1) National Accreditation Board for Laboratories

2) National Accreditation Board for Testing Laboratories

3) National Accreditation Board for Calibration Laboratories

4) National Accreditation Board for Testing and Calibration Laboratories
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7) AmnÎmrì¶dñWmnZ
1) ¶wH«o$ZMo Imbrbn¡H$s H$moUVo YaU 2023 ‘Ü¶o CX²ÜdñV Pmbo Amho?

1) H${Zd 2) H«o$‘oZMwH$ 3) Zmodm H$ImoìH$m 4) H${‘¶m§ñHo$
1) Which of the following dam of Ukrain is destroyed in 2023 ?

1) Kaniv 2) Kremen chuk 3) Nova Kakhovka 4) Kamians

2)  nyd© àem§V ‘hmgmJamMo nmUr Agm‘mÝ`nUo W§S> AgVmZm ............ gmJar àdmh CX²̂ dVmo.
1) MH«$sdmXi 2) A±{Q>gm`ŠbmoZ 3) bm {ZZm 4) EINino

2) ............ occurs when the waters of the eastern Pacific are abnormally cold.

1) Cyclone 2) Anticyclone 3) La Nina 4) EINino

3) OyZ 2023 ‘Ü¶o ^maVmÀ¶m npíM‘ ^mJmVrb g‘wÐ {H$Zmè¶mdarb àXoembm H$moUË¶m dmXimMm VS>mIm ~gbm hmoVm?
1) A‘’$mZ 2) ’$¶mZ 3) Vm¡ºo$ 4) {~naOm°¶

3) Which cyclone hit the coastal region of the western part of the India in June 2023 ?

1) Amphan 2) Phyan 3) Taukte 4) Biparjoy

4) ZmJarH$aU åhUOo ............
A) eham§‘Ü¶o cmoH$g§»¶oMo H|$ÐrH$aU ~) eham§‘Ü¶o cmoH$g§»¶oMo {dH|$ÐrH$aU
H$) IoS>çmV cmoH$g§»¶oMo H|$ÐrH$aU S>) cmoH$g§»¶oÀ¶m KZVoV dmT>
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ A Am{U S> 4) darcn¡H$s gd©

4) Urbanization means ...........

a) Centralization of population in the cities b) Decentralization of population in the cities

c) Centralization of population in villages d) Increase in density of population

Answer Options :

1) Only a 2) Only a and b 3) Only a and d 4) All of the above
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CÎmao

(9) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm - àH$mePmoVmVrb ñWio, amOH$s¶ ŷJmob,

n¶m©daU n[afXm, g§dY©Z, H$m¶Xo, AmnÎmrì¶dñWmnZ

1) ^m¡Jmo{bH$ d n¶m©daU{df¶H$ KQ>Zm

1-3 2-4 3-3 4-2 5-1 6-2 7-4 8-1

(2) àH$mePmoVmVrb ñWio
1-3 2-1 3-2 4-3 5-1 6-1 7-4 8-4 9-1 10-3
11-4 12-2 13-2 14-3 15-3 16-3 17-3 18-1 19-3

3) n¶m ŷV gw{dYm, amOH$s¶ ŷJmob

1-2 2-3 3-4 4-3 5-3 6-x 7-3 8-4 9-4 10-3
11-4 12-3

amOH$s¶ ŷJmob
1-3 2-3 3-4 4-3 5-1 6-3 7-3

4) g§å‘ocZ, n[afXm
1-2

5) àXÿfU d Vmn‘mZ d¥Õr
1-2 2-2 3-1 4-1 5-4 6-4 7-2 8-3 9-4 10-2
11-2 12-1 13-4
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6) n¶m©daU g§dY©Z
1-2 2-2 3-3 4-4 5-4 6-4 7-4 8-2 9-1 10-4
11-4 12-4 13- 2 15-3 15-4 16-4 17-2 18-3 19-4 20-1
21-2 22-3 23-2 24-4 25-2 26-1 27-3 28-3 29-1 30-1
31-2 32-2 33-3 34-1 35-1 36-3 37-1 38-3 39-2 40-4
41-3 42-3 43-4

7) AmnÎmrì¶dñWmnZ
1-3 2-3 3-4 4-1


